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TIPS TO KEEP HEALTHY

1.  WASH YOUR HANDS thoroughly with soap and water for at least 20 seconds.  Alternatively, use hand sanitizer with an alcohol content of at least 60%.
2.  PRACTICE SOCIAL DISTANCING – keep a distance of 1m away from other people.
3.  PRACTISE GOOD RESPIRATORY HYGIENE:  cough or sneeze into your elbow or tissue and dispose of the tissue immediately after use.
4.  TRY NOT TO TOUCH YOUR FACE.  The virus can be transferred from your hands to your nose, mouth and eyes. It can then enter your body and make you sick. 
5.  STAY AT HOME. 
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Question 1


The diagram below shows a beam with two vertical point loads of 2 800 N and 700 N acting on it. The beam is supported at point O. 
Calculate distance X from O to place the 700 N load to ensure that the beam is in equilibrium. 
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Question 2

A lever is 6 m long and its fulcrum is 1.5 m away from the left end of the lever. A force of 250 N acts downwards on the left end. It also carries two other concentrated loads, one being 60 N and 3,5 m from the left end and the other being 80 N.
Calculate the distance from the left end to the concentrated load of 80 N which will ensure that the lever is in equilibrium. 
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Question 3

The diagram below shows a 4 m long beam supported by two vertical supports, A and B. Two vertical point loads of 800 N, 300 N and a uniformly distributed load of 180 N/m is exerted over the left half of the beam. Calculate the magnitude of the reactions in supports A and B. (Draw and complete the diagram below and indicate the point load that replaces the uniformly distributed load.) 


[image: ]


Question 4
The diagram below shows a beam supported by two vertical supports, A and B.
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Calculate:
a) Draw and complete the diagram and indicate the point load that replaces the distributed load. 
b) The magnitude of the reactions in supports A and B.
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FIGURE 8.1

he diagram in FIGURE 8.2 below shows a beam supported by two vertical
supports, A and B. Two vertical point loads of 800 N and 300 N as well as a
uniformly distributed load of 70 N/m over the total length of the beam are
- exerted onto the beam. Calculate the magnitude of the reactions in support
- A and support B.

M Copy and complete the diagram in the ANSWER BOOK. Indicate the point
- oad replacing the distributed load.)
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The diagram below shows a beam with two vertical point loads of 2 800 N and 700 |
on it. The beam is supported at point O.
Calculate distance X from O to place the 700 N load to ensure that the beam is in
equilibrium.
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82  The diagram in FIGURE 8.2 below shows a beam with two vertical point loads
of 2800N and 700N acting on it. The beam is supported at point O.
Calculate distance X from O to place the 700 N load to ensure that the beam
is in equilibrium.
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A mild steel bush, 80 mm long, with an inner diameter of 30 mm and an
outside diameter of 40 mm, is used in a hydraulic press to press out bearings
from a hub. A force of 50 kN is exerted on the bush

State the type of stress in the steel bush.

Calculate the stress in the material.
megamagnitude.

Calculate_the change in length caused by the force if Young's
modulus E = 90 GPa.

Calculate the safe working stress if the break stress of the material
is 600 MPa and a safety factor of 4 is used_

Give your answer in
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